Econ 102

Fall 2004

Practice Questions 4 – Answer Key

I. Multiple Choices:

1)  b     2) c     3) d     4) c     5) c     6) c     7) d     8) d
II. Problems:
1) 

a) Does not affect GDP: Non-market activity.
b) Does not affect GDP: Non-market activity.
c) GDP increases.
d) GDP increases.
e) Does not affect GDP.
f) GDP increases by $2,000.
g) GDP in U.S. increases.
h) Does not affect GDP.
i) Does not affect GDP.
j) GDP increases. 
2)  

a) Not included: neither good nor service.

b) Included.

c) Included.

d) Not included: not produced in this year.

e) Not included: non-market activity.

f) Not included: non-market activity.

g) The air travel, if on a U.S. airline, would be included. If the travel is on a foreign carrier, it would not be included. The wine and cheese would not be included.
h) All the 10,000 personal computers are included in GDP of 2004.
i) The product is an intermediate good, so it is not included. The price that the restaurant charges to its customers is included.
3)

The expenditure approach

(Millions of dollars)

	Expenditure
	Specific Motors
	Super Duper
	Total

	Consumer (C)
	4.8
	14.0
	18.8

	Investment (I)
	0.8
	0
	0.8

	Government (G)
	0
	0
	0

	Net Export (NX=EX-IM)
	1.2
	0
	1.2

	   Export (EX)
	1.2
	0
	1.2

	   Import (IM)
	0
	0
	0

	Total (C+I+G+NX)
	6.8
	14.0
	20.8


The factor payment approach: GDP = Wage and salaries + interest + rent + profit

= Sum of factor payment earned by all households

= Total household income

         Note that the costs described in the table for each business is also the income of the households in Trivialand. Therefore, in Trivialand, the income of all households can be calculated by 

(Millions of dollars )

	
	Source
	Total

	
	Specific Motors
	Super Duper
	Farmers
	

	Wage and Salaries
	3.8
	4.5
	
	8.3

	Interest
	0.1
	0.2
	0.7
	1.0

	Rent
	0.2
	1.0
	2.0
	3.2

	Profit
	2.7
	1.3
	4.3
	8.3

	
	
	
	
	20.8


Note: Profits are computed as follows:

(Millions of dollars)

	
	Specific Motors
	Super Duper
	Farmers

	Revenues
	6.8
	14.0
	7.0

	 - Wage
	-3.8
	-4.5
	

	 - Interest
	-0.1
	-0.2
	-0.7

	 - Rent
	-0.2
	-1.0
	-2.0

	 - Intermediate Goods
	
	-7.0
	

	= Profits
	2.7
	1.3
	4.3


4) 

	Item
	Seller
	Buyer
	Price ($)
	Value added ($)

	Bushel of Soybeans
	Farmer
	Miller
	3
	3

	Bag of soy meal
	Miller
	Factory
	4
	1

	Gallon of soy sauce
	Factory
	Restaurant
	8
	4

	Gallon of soy sauce used as seasoning
	Restaurant
	Consumers
	10
	2


Therefore, the series of economic activities contributes $10 (= 3 + 1 + 4 +2) to GDP.

5) 

	
	CPI*
	Nominal GDP**
	Real GDP***

	1990
	130.7
	5803.2
	4440.1

	1991
	136.2
	5986.2
	4395.2

	1992
	140.3
	6318.9
	4503.8

	1993
	144.5
	6642.3
	4596.7

	1994
	148.2
	7054.3
	4760.0

	1995
	152.4
	7400.5
	4856.0

	1996
	156.9
	7813.2
	4979.7

	1997
	160.5
	8318.4
	5182.8

	1998
	163.0
	8781.5
	5387.4

	1999
	166.6
	9268.6
	5563.4


For instance, the Nominal GDP cannot capture the recession in 1991.

6) 

a. Frictional

b. Cyclical

c. Structural.

d. Seasonal

e. Structural

f. Structural

g. Seasonal

7) 

	Population (1)
	100,000 

	Under 16 (2)
	12,000 

	Over 16 (3)
	

	In military service (4)
	800 

	In hospitals (5)
	50 

	In prison (6)
	300 

	Worked one hour or more in the previous four weeks (7)
	65,000 

	Searched for work during previous four weeks (8)
	3,450 


Employed: (7), Unemployed: (8), Labor force: (7) + (8),

Unemployment rate : (Unemployed / Labor force)*100 = 5.0%
















